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QUESTION 1

How do virtual networks that are natively isolated from each other provide support for overlapping IP address in a multi-
tenant environment? 

A. By enabling isolation without using access control lists and firewall rules. 

B. By enabling isolation with the help of Active Directory (AD). 

C. By employing the spanning tree protocol. 

D. By implementing load balancing. 

Correct Answer: A 

 

QUESTION 2

Which internet security protocol does NSX Edge use to interoperate with all major VPN vendors\\' equipment? 

A. TLS 

B. TCP/IP 

C. HTTPS 

D. IPSec 

Correct Answer: D 

 

QUESTION 3

Which operational mode does the NSX Edge router use to connect to the logical network for load balancing? 

A. On-arm 

B. Transparent 

C. Inline 

D. Custom 

Correct Answer: C 

 

QUESTION 4

Which of these allows static or dynamic grouping based on inclusion and exclusion of objects such as virtual machines,
vNICs, cSphere clusters, and logical switches? 

A. uplink 
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B. Active Directory (AD) 

C. Port 

D. Security group 

Correct Answer: D 

 

QUESTION 5

What are two functions of a DLR control VM (Choose two.) 

A. Communicates with the NSX manager and sends routing updates to the NSX controller. 

B. Performs Address Resolution Protocol (ARP) entry lookup. 

C. Establishes routing protocol sessions with other routers. 

D. Forms adjacencies with edge routing peers. 

Correct Answer: AD 
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